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'3. 	-S179.  VMT # 200 501 itt 41 	* I Tit "Tal 

* 	3-k-k 	.-II 3Tft-q-14 t I 
4. 	Answer each question by darkening the one correct 

alternative among the four choices on the OMR SHEET 
with blue/black ball point pen. 
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GENERAL KNOWLEDGE 
\914-ii-24 

(QUESTION NO. 01 - 50) 
i 01 - 50) 

1. 	The Machia Biological Park is located in 
which State? 
1. Rajasthan 
3. Nagaland 

1. Trftrzu 	Lrr- 

ft-21-ff t? 

	

1. 	.1kr1R--Q-11-9- 

	

3. 	-11411(-)u 

2. Rira-c0# 

4. #f 

2. Sikkim 
4. Manipur 

2. T-1161-I f+--1- 	 *? 

1. fT 	 2. 7pr 

3. tcrcka 	4. Ic--kk.31 

2 	Maheshwari Chauhan is associated with 
which sport? 
1. Cricket 
	

2. Shooting 
3. Boxing 
	

4. Chess 
3. 	In early Brahmi Script letter 'a' is written as :- 

1. T 
	

2. 

3. 3T 	 4. 7-1- 

fa-f4 	'3T' 3TaW cb) f 

#Trar ? 

1. iT 	 2. 

3. 3T 	 4. TT 

4. Fresh water found in icecaps and glaciers on 
earth is about 
1. 58 
3. 48 

4. 	ljalt uRcl l vi l krirl crl+IITTT ra7R-1 

4(,)DH-N 	trp--rr v11c1It I 

1. 58 	 2. 68 

3. 48 	 4. 38 

percent. 
2. 68 
4. 38 

5. Which city is the India's cleanest city 

according to Swachh Bharat Survey 2017? 

1. Tiruchirapally 
	

2. Indore 

3. Mysore 
	

4. Vishakhapatnam 

7-TTR-ff 	&--TTT 2017 # q-117ff (-1)I rff-qt 

-ffitT 71-6R-  c41-1 	I t? 

1. th-- -)11-tc,-(,11 	2. *q'l 

3. ti-T 	 4. 1- INAtt-it-1i-i, 

6. Which of the following bank started the 

country's first ATM based on aadhar card? 

2. HDFC Bank 

4. YES Bank 

6. ttZ 	f+71- 	311UR ct)I8 u 	 31Tqlfta 

ATM 	ft7=IT? 

1. ICICI fT' 	2. HDFC 

3. DCB t 	4. YES 

1. ICICI Bank 

3. DCB Bank 

The first state in India to shift financial year 

from January to December format is: 

1. Goa 
	

2. Madhya Pradesh 

3. Uttar Pradesh 
	

4. Delhi 

ft-41-zru 	qt\hq cf) 	 (tai H-€N 

t-iRoMo cl 	um! 7TTRff u71 1-10c,11 VriEf- 

	 t 

1. Elul 	 2. TfaA- 

3. \ -c-k 	T 	4. f' 11 

8. 	The union health ministry and family welfare 

has set malaria elimination deadline as :- 

1. 2025 
	

2. 2021 

3. 2027 
	

4. 2030 

8. 	 c.1 Lift4N ct)c,- -11u1 

tkui 1-1c)R-11 	 31-Ftrt T1- -Efftm- 
f+-zrr - 

1. 2025 2. 2021 

3. 2027 4. 2030 

Page 2 of 30 

S/27 EOD/1.  7- IX -1 B 



9. 	Who is the head of the 9 judge constitution 

bench of the supreme court to determine 

whether privacy is a fundamental right or not 

under the constitution. 

1. Abhay Manohar Sapre 

2. Sanjay Kishor Kaul 

3. J. S. Khehar 

4. F. Nariman 

	

3. 	-1. 
 

9. 	TfitzTim 	* 	3T-Ti-N 	4 nLoNcii 	itra-cp 

-. T-M-WR t ziT 	flct)) r*TtP-ff cp 

Ti---a 	-e4Ril elq 	* 	9 	"q1dre 

74-ium tird cm -sip-  t - 

3r4T-4 Tr-4-e 1. '-1  
2. ,4-luizi -1 -7T9- 	cPle1 

.0-. 	RtEe 

4. 	9'. 9t11:19- 

10. 	As 	per 	NITI 	Aayog, 	India's 	economy 	is 

expected to grow at 	 in the fiscal 
10. 	tit 3TTOT * 317IR 4114 2018 * fe4114 

--% cri 4 li-R 	4 	3Tztarawr -ei 	4 
ending in march 2018. 

1. 7% 	 2. 7.25% 

3. 7.75% 	 4. 7.5% 

T1121-TT49T 	 t I 

1. 7% 	 2. 7.25% 

3. 7.75% 	 4. 7.5% 

11. 	Which Railway station has been renamed as 

Deen Dayal Upadhyaya recently 

1. Malihabad 	2. Mugalsarai 

3. Manoharganj 	4. Mihinpurva 

11. 	610 	# ft7 t-6-4 .RtY19. 	--T -119 	61q(lci-) 

4)-1 	qqic,i 31:FluTRI .<(51 	4 1q1? 

1. 	961611q 	2. 	TR,N-NR1 
 

3. 	4-1-116 4 1\31 	• 	4. 	149-Tc11 

12. 	The First Female Sikh Member of Parliament 

(M.P.) of Britain is -. 

1. Preeti Kaur 	2. Preeti Kaur Gill 

3. Suman Kaur 	4. Suman Kaur Gill 

12. 	-14-- 9 	-cfrA.  lift-M ftrgf \i1N1q 	t :- 

1. 	lit c 	 2. 	lifc 	1‘ f- 

3. 	TM-  ct.)1 	 4. 	Ti9.  ci-N n el 

13. 	Who has manufactured country's first Bio- 

CNG (Bio Methane) bus? 

1. TATA Motors 	2. Mahindra 

3. Maruti 	 4. Suzuki 

13. 	kT  4 q5eii wth. ,41179..Q. (r  fil0-9-) 

.1,(1 w-  .3ctuq.i it---e 	gm f --zri-  4R11 t? 

1. 	tit! 1=1)--d7 5 N1 	2. 	liftT 	TAT 

3. 	1:11- 14 TM 	4. 	Tfqit TRT 

14. 	Which of these digital payment mechanism 

does not requires an internet connection? 

1. USSD 	 2. UPI 

3. e-wallet 	 4. IMPS ?  

14. 	-1-4-g1 # 	m1-9-  t 11:3-iei Igr-dr9-  ci-A * 
.i7 	t.)t 	ct).)ci- i-i 	c`) 	31-1-4F1T 	-ffef 

1. 	Ti Tfl 	-i 4 	2. 	Ti t 31-11 

3. 	--cii(,) 	 4. 	311 "cni 41" 	-i 

15. 	First Indian state to make social boycott as 

crime is: 

1. Punjab 	 2. Maharashtra 

3. Kerala 	 4. Andhra Pradesh 

15. 	fl191Dct) 	GatcON 	cP'1 	3TuRTzT 	q-dT4 	cilril 

t-1(11 4-1-Rtzf ,fluz.I - 

1. t-ilissi 	 2. 	4161'<N 

2. c(-1 	 4. 	311 T 'CF-"E 

16. 	The characteristic odour of garlic is due to 

which one of the following compounds? zItir 
1. Chlorine containing compounds 

2. Fluorine containing compounds 

3. Nitrogen containing compounds 

4. Sulphur containing compounds 

16. 	(151-1 	(61 	WM 7ftT 	f. 4'1 	4 tf We 

* 4)1'01 t? 

1. ctea -1 -zt&I-T 

2. t-tc-M-1 7ff "7:11PM 

3. -110 v1-I T4ff tfiM 

r 1-4 TIV 4. 	flek-t< 	1 	I  
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17. The 2017 International Plastic Baci Free Day 17. 3i-d-AqRi L-C1 I R-t• Cf) €) 4 1 Tr -ft-4-€ - 2017 
was observed on? 
1. July 03 	 2. August 05 
3. July 02 	 4. May 07 

f- R.-1 4-Niqi Trzfr? 

1. 	ulc,11 	03 	• 	2. 	37TRT 05 

3. 	‘31r1li 02 	4. 	114 07 

18. In which state, there was a protest in January 

2017 due to a traditional sport, Jallikattu? 

1. Tamil Nadu 

2. Uttar Pradesh 

3. Andhra Pradesh 

4. Haryana 

18. ''‘-riC4C0qC ft 7i. 	'<i 	.r 	4 14,044•4141d 	46-  

co 	c)cm v1.lU.- 2017 # 3T1---69 gaTT? 

1. c-Aci-q 

2. '3 c11 WaT 

3. 3TitT mi 

4. 6 win 

19. Which organ in human is known as "Blood 

Bank"? 

1. Spleen 	 2. Kidney 

3. Heart 	 4. Liver 

19. "vra illici vitH 4 col.i ii-r 3i- i 	.U" * 

wr4 -4 vim' uiicht t? 

1. 	ft-41 	 2. 	4,01 

3. 	F4--T 	 4. 

20. "Desert Oak" is a tree whose roots go deep 

into the ground tilt they reach water. The 

depth of these roots nearly 30 times the 

height of the tree. This tree is found in - 

1. Rajasthan 	2. Abu Dhabi 

3. Australia 	 4. Russia 

20. ''itc-li-1) atro' -cr i # WE 9T# t fticP 

mi4 \3,4-1 Tru-R-r-i wt.) w4i-9.  4 11)--d-i.  with t 

vi GI ci co ft rift ffT 9 ITO AR's! Te # 

Th'/f vise 	4I6. 	1 4 * 6;.ciii  

MTITIT 30 1,0) tfel.  t I Z 	4 toe"' 4te41 

viichl t? 

1. 	VM-e•Tiff 	2. 	311T-TTM 

3. 	31"RttzIT 	4. 	.<->tl 

21. Who is the first Deputy Prime Minister of 
India? 
1. G.L. Nanda 
2. Devi Lal 
3. Charan Singh 
4. Vallabh bhai Patel 

gild  

21. 11T-.  * Wili 3c1--W-IT9Ttli 0-1 *? 

1. A. 'cr. 	-iql- 

2. tt 	d 

3. Wuf fr 

4. W-- ITI1T4 1:18-F 

22. Nomination of Rajya Sabha Members by the 
president was taken from the constitution of 
which country? 
1. USA 	 2. Ireland 
3. South Africa 	4. France 

22. 

f6-zrr ,iqi 	_Tr?  

>xNt 1T 	* 	T1-4-fzlt 	t 

.1 IiiicP-I TT fkzigi 1 --Tr 	i * 3-frOurff t 

1. 	. 	,t-1. 	fi. 	2. 	31147 --u 

3. 	--fvE 3TitM- 	4. 	4i \ii 

23. What was the theme of 'World environment 
day 2017 celebrated on 5th June, 2017? 
1. Think, eat, save 
2. Connecting people to nature 
3. Many species, one planet, one future. 
4. Small Islands, climate change. 

23. 5 	vi, 	2017 Th-1" itZ4 	LitiicNuf ft-IWI 	i 

ti q (PIN 2/1 

TI)' 1. , ZIT31)., 	61-cif3t  
2. 4-ilu4 '4 "51y1t t ui .. 

3. c#4 11-4, t; (1) I-1 	, Bch .4ftsT 

4. 165-)t ar)4 .3N lteli l-i 	Ci 	•1 
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24. Who among the following first propounded 
the idea of 'Basic Education'? 
1. Jawahar Lal Nehru 

2. Raja Ram Mohan Rao 

3. Mahatma Gandhi 

4. Dayanand Saraswati  

24. PTIT-41- Plafr 
VRTd ft-zIT 21T? 

1. 016 6\`ri 

2. ,fluiR1,4 ~I 	flu 

3. 1161011 TM. 

4. qz4I-k 

25. The longest sea beach in India :- 
1. Chapora Beach 	2. Diu Beach 
3. Aksa Beach 	4. Mariana Beach 

26. How many Indian states share border with 

Myanmar? 

	

1. 03 	 2. 04 

	

3. 05 	 4. 02  

25. #17U iT-44 ricif VIA cid t :- 

1. 	11)-- T cid 	2. 	qc1c1 cid 

3. 314iT1 cid 	4. TftMT cid 

26. f+---a# 411-R-azi 	4-4.114-ik 	"URI ttITT 

	

1. 03 	 2. 04 

	

3. 05 	 4. 02 

27. Who 'has become the first Indian woman to 

be elected as judge of the International 

Tribunal for the law of the sea? 

1. Nirmala Randhawat 

2. Anamika Rajput 

3. Neeru Chadha 

4. Nidhi Bhandari 

27. Trip  	ft7 af-d--6tzT 	ui 

t)t-i 4 -T) vti-) qr-A-
ITTR-O'tzi IfftWT (1)1-T t? 

1. fklif 

2. 3T-9T17 

3. 41-- thssor 
4. fkf4 .1f. Ttt 

28. The Kishtwar National Park is located in 

which state? 

1. Jammu and Kashmir 

2. Himachal Pradesh 

3. Punjab 

4. Sikkim  

28. 14)c-IcIi,.5 -11&ftzf ‘3W-1 	\k-i -4 ft-2.4-ff 

1. 44=13t 
2. 1-4-11T-io1 	 .C1-4VT 

3. uv11N 

4. Rif-4.04-1 	 

29. Which online facility has been launched by 

the government to provide direct solution to 

problem of agriculture sector? 

1. e-Krishi Samasya 

2. e-Krishi Samvad 

3. e-Krishi Samveda 

4. e-Krishi Solution  

29. rf 

,(_Nct,I, 	ct-i 	r3#9--d-ro -4Q-r 

1. 	•6 4i' 	I 

2. e - 

TIO" 3. e -  Ail 

4. e - 	ZTFiTUf9. 

30. Which city to host the 2024 Summer 
Olympics? 
1. Los Angeles 	2. London 
3. Paris 	 4. New York  

30. ct>)-1 TiT 7-F-6 2024 chl 	31)--diZrWi 

ct) 111? 

1. A1 taff 

3. 14iti 

2. Mc-1  

4. 	Ic 
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31. Which 	mobile 	network 	offers 	broadband 
facility 	with 	top 	download 	speed 	of 	100 
megabit per second on its fibre to the home 
network? 
1. 	Reliance Jio 	2. Airtel 
3. BSNL 	 4. Vodafone 

31. f5i TI-Y-41--a-  td-4- 	.4 311:Ft 	)01 4 

31PUW-dli 100 4)411Rt m 	tfwoz 4 	t 

"1:FT- 7 Z6)4-i" 4 	cii 3tfER 4 t? 

1. 	R qi 14 .--1 frr 	2. 	tz178-F 

3. 	.41.1.1.e.i 	4. 	ci)it-t))-i 

32. A new fast - growing flower has been named 

after Prime Minister Narendra Modi in which 

of the following country? 

1. Cyprus 	 2. Lebanon 

3. 	Palestine 	4. 	Israel 

32. .gZ,T1-91441-  -1 -q Ttrit * -IN 1:R 	ct.) Alt t 

qq-4 %el 	5i -IN 	-ui-  41qt t .4 1.  4-1 it -R4 

ft-Ri 	I 	t? 

1. 	,-II*M•ti 	 2. 	--49T-9- 

3. 	x1111'1 	4. 	*v-ki*ri 

33. "Pulitzer Award" is given for which of the 
following stream? 
1. Agriculture 

2. Journalism and Literature 

3. Science 

4. Maths 

33. "r -d---d- 	-c.1->k" 	14-.1 	-4 	t 	-1 --i-i-  

f4-zrr ,ticil t? 
1. ef 

2. 	t-I -Aq-)IRcif 'R.q' Tilftzzi 

3 fOTM 
4 	Trfkff 

34. 'Kuduk' is a language of the people of - 

1. Manipur 	 2. Arunachal Pradesh 

3. Jharkhand 	4. Mizoram 

34. "filch" Ct 	ei)+iI 4 7-TPsiT t? 

1. 	iTfftry 	 2. 	31---uTTc1V--tZT 

3. 	$-Iigu.s 	4. 	(‘31N41 

35. The 	metamorphosis 	of 	tadpoles 	is 	not 

possible 	if 	the 	water 	in 	which 	they 	are 

growing does not contain sufficient 

1. Calcium 	 2. Oxygen 

3. Iodine 	 4. Sodium 

35. t-- ci-)-- 	r-R-i um # A" cr),Z 	t, 3--e4 

\3-14)I 	ct)leii-k-kul 	(It 	chic 	W-N-q.) 	q-II-I 0 

T4'41-4 9.6i 	t, 	Tift 	.3 	vi ei 	# 	 
1-11-)II 11 	tr I 

1. 	ctiZ-W-4 4i 	2. 	31d1-4,4"W9- 

3. 	31-Ittff 	4. 	.(1)1z4 4-I 
 

36. The role of Villi in the intestine is to --- 
1. Help in the conversion of starch into 

simple sugar. 
2. Help in transporting the undigested and 

unabsorbed food from small intestine to 
large intestine. 

3. Absorb water and some salts from the 
undigested food. 

4. Increase the surface area for absorption 
of digested food. 

• 1=jLtzt 

36. tatii Mficf0 4 3Tiff 4 	1-1-PffT t 
1. •-t 1 el (4-k) 4)) 	,t-kri 7r-s-Rr311 4 

t-IR0Wi q)'0) 4 tI61q01 ct).11 

.q" 3T9T-47tRfff ' 	&J----  2. 311ttU 	 41)----9 q-))  
. 	t AVrq 4 A-A-4 4 'flIqc-ii ct- -ii 

3. 	3Mcit 1-1'r 	t vi ef 	2-1T Vs) 	-41:111.  

ct)) 310 Act c - <-1l 

4. 	Li -,) 	1.-T 	* 3TaviThsur * ra- 

a-) 	4 1ft ct-ii 1 
37. Shafi and Hanfi are 

1. Islamic architect styles 
2. Places in Saudi Arabia 
3. Islamic Schools of law 
4. Two Islamic Rulers 

37. 

2. 	-T1---t 3R4  -4 7-2TH 

7TIP 	2-41- -6-1:0-  * 	. 

1. 	-111t qitgq)c-ii tf0-41 

3. - 11-4 	Ti-- 11ft ft-41U 

4. --\f 	YI1t1ch 

Page 6 of 30 



38. If you carefully dig a grass plant and observe 

its roots and leaves you will find that it has 

1. Taproots and parallel venation 

2. Taproots and reticulate venation 

3. Fibrous root and reticulate venation 

4. Fibrous root and Parallel venation 

39. Cereals such as wheat and gram are grown 

in a area. The Soil of this area must be 

1. Both loamy and Sandy 

2. Clayey 

3. Both sandy and clayey 

4. Both clayey and loamy 

40. Which of the following areas was known as 

Magadh in ancient period? 

1. South of Ganga 

2. Between Ganga and Yamuna 

3. North of Ganga 

4. Between Yamuna and Chambal 

41. Rig Veda was originally composed in - 

1. Prakrit 	 2. Vedic Sanskrit 

3. Brahmi 	 4. Shauraseni 

38. tfft 31TIT 	"EIM 	-CM ct)) fliciMtc*-7  

\3.q I cf) U-ift 	34)7 -4Itzifc 	l 	&?-Turr 

1 31-rcr 	tiTqt f 	*•6.) 

1. fl4-11-th-th PRA-qm 

2. 1=kTT 	 3fR \yi 1 c l cf.)] 

I 

3. t*-417 	 3117 \.5-111c1-)1 

4. 	 3fi-R. 	 I 

39. Wr 	 U2-TT TA.) 31s) 	ct)) 

Mc). -1-Tr gt-4r 

-rft- 

1. -e,fizr - 	-q-q 

2. 71:Ri 

3. 64( 	Tju4-1 

4. TSITI=Ri 

40. 	 'dl Wt 9 cmo 

1 	 -11 4-i -R4W I l I utior 2E? 

1. 41 4 11 cm duur 

2. 4 int 	 -liar 

3. 4 1 4 11 4)1 --fft 

4. -41:19-r -u24-r 	-ffm 

41. -%f/ 1q c61 	‘<z4-11 	 liTEIT 4 -0 2ft 

1. i;rrTff 	 2. 	•d-cpc-1 

3. a1-611. 	 4. e))--1) 

42. Which period is the longest in the human 

history? 

1. Paleolithic age 	2. Megalithic age 

3. Mesolithic age 	4. Neolithic age 

42. 	4-11-1c1 	 ct)1.1 	ct-)1Q-1 	eikir 

-g? 

1. 	Tit-titilui 	2. 	4-1611-11N1u1 

3. TIUTTENful f 	4. 

43. What is meant by 'Social Justice'? 

1. All should have same economic rights 

2. All should have same political rights 

3. All kinds of discrimination based on castes, 

creed and gender should- be eliminated 

4. All should be granted right to freedom of 

religion 

43. 	', -11 4-11Dct) 7-TITTI" ch 1 off 3TO g? 

1. cp) 

2. Tilt ct)) fl 4-Il i •1\3-1 [ct•) Ntl-WR 

-q-rftq I. - 

3. 3t-R.  fat 3-rurita 

qc1-)k 4)1 	 61-ir 

4. Tilt cr)) m=1-  c 	-c-ici -)101 	13 

fir vivir 

th-d-;f1 
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44. India's longest bridge inaugurated by Prime 
Minister Narendra Modi is - 
1. Dadasaheb Bridge 
2. Kamakhya Bridge 
3. Dhola Sadiya Bridge 
4. Brahmaputra Bridge 

44. . T1-034 ITIR- 	-WI 	-RIT 	V  	t, 

DticM 	741-NIT 	wr-1-4-4t 	.-i.- 	Tht 	-4 
fr I 

1. 	qiqN-II 	4 Sri 	2. 	cD14-itczn V 

3. 	ta.  Tit 	TT .1p. 	4. 	41 41T71• 	e-1 
45. What 	refers 	to 	a 	special 	identification 	or 

name that is associated with a product? 

1. Lifestyle 

2. Market 

3. Consumer 

4. Brand 

45. -----4r 	\3c-t-nq 	t 	-Trif-RT-d. 	WOTIZ 	46-cil-1 

3T24-qr -IN -i-  31-Pr51rz1 t 
1. 11-49.  11-4 Th-f uttwr 

2. Gilulk 

3. 31:Pi)-4M 

4. my (W'u -) 

46. Name 	the 	country 	where 	first 	Hydro- 

electricity plant was established? 

1. Norway 

2. Brazil 

3. USA 

4. Russia 

46. \3-1 	Th-T 	9T1=1" -T-d-F 	\.151 	Ti40 	Li6 d i 

ui ei ft7 ,-k.i -)I 	-Q•Triel 	ftzrr + I e4 I 21-r I 
1. --4 

_ 2.    

3. •RiV4 	'13-Li 31141-TT 

4. r)*1 

47. Which city in India was designed by the two 

famous architects, namely Edward Lutyens 

and Herbert Baker? 

1. Calcuta (Kolkata) 

2. Madras (Chennai) 

3. New Delhi 

4. Bombay (Mumbai) 

47. Esc1 	V-49-  31 Z748 -4M-7 .114-14) t 

CiftF4 cil*cicON) A I-TR-ff 4 it-Ri vre 4 
-() 4 &q 1 tzfr-R-  cA? 

1. 	cPricricll 	(c)mcoicii) 

.2. 	11W,t1 	(1.-t) 

3. '1 	"ft- r 

4. -qTzlt (1Tit 

48. Highly indented coastline found along the 
coast of - 
1. Atlantic Ocean 

2. Pacific Ocean 

3. Indian Ocean 

4. Arctic Ocean 

48. 317-zifchiTh-tr--cb-tr 	c-lt.q1- 	ft7i 	clt 	Ch 

TP-T Li 	wth t? 
1. 31Z-6-fre 	1-16N114k 

2. Wlicl 	416 kll 4  k 

3. f 	4-i6itil+N 

4. 3T1hc 	c 	li6kii4k 

49. In which part of the Hindu Temples, the 
image of the main deity is placed? 
1. Shikhara 	2. Mandapa 

3. Nritya Graha 	4. Garbhagruha 

49. f8- 	l'ifttif 	liTTT # ISCq.  3ITTRIT 4 
CirdliT . 11c %cl tit t? 
1. 	ftrR3R 	 2. 	41u4 

3. 	lcq,0 	 4. 747 

50. 'Chahar Bag' was constructed by which of the 
following dynasty? 
1. The Mughals 	2. The Tughlaks 

3. The Khiljis 	4. The Lodhi's 

50. "ziK 6I141" .TT ffitur ft7f cli 	RI ftlfT 

4Iz4i 	24T? 

1. 	IJIM cil 	2. 	Tioct) c1'I 

3. 	%ciA cil 	4. 	Wt cii 
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51. Displacement time graph of a particle moving 
on x-axis is - 

x 

	► t 
to  

1. Particle is continuously going in +ve x-
direction 

2. Particle is at rest 
3. Velocity increases upto time to  then 

becomes constant 
4. The particle moves at constant velocity 

upto a time to  and then stops. 

GENERAL SCIENCE AND MATHEMATICS 
*ii4ii-z4 -ft-am 311-R' TifkU 

(QUESTION NO. 51 - 200) 
,k-kg4i 51 - 200) 

52. Consider motion of the tip of second hand of 
the clock in one minute. 
1. There is no relation between second and 

minute hand. 
2. The distance covered is zero. 
3. Average speed is zero. 
4. Average velocity is zero.  

1. 	C4-> 	T ct)T x - f'47rr 	-cid() 	cOl 

- -Tfruzi lzuF ftzrr 	 t - 
A 

x 

to 
	► t 

1. WM-  (1411c1N x - ftZIF 	T-4Q1 	I 

2. wur 	.“ I 

3. to  fl41RI Oct) 61q,c11 t 3ftR' 

T-q r4zff 

4. 5T to  '.-14-1z1 	fkzM 

>ct) wIc1II 

52. ITigt 4 	c ,4,1 	-114 	.) 

fiT9--  4 TO-  tei 	- 
1. -Rt- 	* cr)) 

--&t 6)01 I 

2. -V't c-V4 	7F-  trt I 

3. 311-ff-di11M7K4 	I 

4. 3NTU 1 	I 	T 61cIT 	I 

53. c“-q TIM-er - 

1. e4qT 	+1 

2. f49T 	* -c•N 

3. f4T 	I 	374KR:f cc1,0-)1 

4. \t-k)CK1 	tf ct))4.  

53. An object may have 
1. Varying speed without having varying 

velocity. 
2. Varying velocity without having varying 

speed. 
3. Non-zero acceleration without having 

varying velocity. 
4. None of the above 

54. A stone is released from an elevator going up 
with an acceleratiOn a. The acceleration of 
stone after release is 
1. a upward 
2. (g - a) upward 
3. (g+a) downward 
4. g downward 

54. L ct.) trcq7, 	->I c 	v11 -TER c) 31'R a 

ccNul 	'ii Ter *, Estqr uttor * I th-T4* 
r-Fc-2-17 q ccNul - 

1.  c6) cc 	R.  

2.  (g - a) 4 30 

3.  (g + a) cbr) 3-1)-R 

4.  g 430 

S/27 EOD/17-(IX)-2A 
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55. Internal forces change 
1. Linear momentum but not kinetic energy 
2. Kinetic energy but not linear momentum 
3. Total momentum must change 
4. Neither linear momentum nor kinetic 

energy 

55. 31-1-ft 	GM LiRcMcf Th7 •t-ict) 	t - 

1. tdrzf , -1 4 1 	-f - 	Trrd--.  olvt 	-tgl 

2. Trfo--  thvil R-9-r 	,i-kri-  qRca-1-1 	
• 

3. q)...iI TTit7 	_il\sii2.1T 	,-i+I 

4. q) -̀lI Trit 	\3,,,AT .ff2,TT 	st-I 4 I 	f 7) 	ct)) 

-Igl I 

56. Potential energy of a body at the surface of 
the earth is always the 
1. Zero 	 2. -ve 
3. +ve 	 4. Any value 

56. r+-4t ci*q 4 ReT-10-  \3,vil 'Ft 4 	- 

- ER tici tth t 

	

2. 	-ve  

	

1. 	1 *qff 

	

3. 	+ve 4. 	cl•)) 	1-Ti liN 

57. An object dropped from top of tower falls 
through 40m during the last two seconds of its 
fall, the height of tower (g = 10m/s2) will be - 

	

1. 60m 	 2. 45m 

	

3. 80m 	 4. 50m 
- 

57. lcp cI*c, 	(.1-) ta-F 	ft-- F t fi'R-4 § 

314 3:1 	3)-*IT 	# 40m 4 Vt tieicll t I 

Tift (g = 10m/s2) QTR.Th1-  4)-c4i 	tr-Ift I 

1. 60m 	 2. 45m 
3. 80m 	 4. 50m 

58. If the distance between sun and earth is 
doubled then the duration of year will be- 

1 1. Two times • 	2. 	_ times 
4 

3. 2.J times 	4. Same 

58. qR -gat .4 Ti 	t- 	4 Vt sn--41 cr) 

ti 	Vic., citi TT cPiri &l SIT I 

I 1. 	2 	4S-11 	 2. 	4,t‘1I 

4 

3. 	2h T-11 	4. 	Lch 4(-11 

59. Average density of earth 
1. A complex function of g 
2. Does not depend on g 
3. Is inversely proportional to g 
4. Is directly proportional to g 

59. tjat c01 3frffff 	.-1.1c-cl 

1. g ct)i f4N-a Lbri.1 

ER r41-1-R.  2. g 	-mg co cti  
3. g .. clut)4-111ta 

4. g * 31-p-TITTETt 

60. Spring of spring constant k is cut into n parts. 

The new spring constant of each part will be 

	

1. 	nk 	 2. 	
k 
" 

	

3. 	k 	 4. 	1 

n 	 a 

60. c.r> 	%it 	fict-)1 	ficlicr) 	k * n 	Sci-) 	ct). 

ff?1 u1Ic) * I Icy 

	

ITFr 	cm 	fti-Fr 	-fz.ic-tict) 

	

2. 	" 
k 
1 

	

4. 	• 
nk 

6 411 - 

	

1. 	nk 

	

3. 	k _ 
n 

61. A body starts from 
acceleration time graph 
The maximum velocity 
will be - 
1. 110 m/s 	10 

2. 50 m/s 

3. 650 m/s 

4. 550 m/s 

rest at time t = 0. The 
is shown in figure. 

attained by the body 

Acc. (m/s2) 

Time (s) 

61. ..) 	cN-q 	t=0 	ft. Pi t 	tth t I 
\3flc 	cci,01-t1P1M 	ct>1 JAR) ftETTET 4 iql t 

cHc 	gR-r mp-ci 1 --zfr 
1. 110 m/s 

10 
2. 50 m/s 

3. 650 m/s 

4. 550 m/s 

3f14---d-ii 	)4 11 I 

ccHui (m/s2) 

Time (s) 
10 10 
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62. A copper disc with a central hole is heated. 

The diameter of hole - 

1. Increases 

2. Decreases 

3. First increases then decreases 

4. Remain unchanged 

62. 	.) 4)IL-N 	 fRi* 	 

t-4 	n4 fturr Quo' t1'E,)q 4)1 'WM 

1. 4z-rr 

2. ITT 

3. 1T6-  41a-TIT feb-7 

4. 31 cc 	4 11 

63. A solid of density D is floating in liquid of 
density ci. If v is the volume of solid 

submerged in the liquid and V be volume of 

solid. Then 

1. 

3.  

v V = dD 

v 	D 

V 	ci 

2 

4. 

V 	- D 

v 	d 

Dv = (1 + d)v 

63. 	L c.f) 	6)%d 	1- 14)1 	 D 	cl") 

1sd4)I 	 dt4N 	 I 	v cU 

dl s4-i 4)1 3171d-9-  cT2TT v RT cot 

31-pm-9-  61 I oci 

1. vV= dD 	 2. - V D 

v d 

4. Dv = (1 + d)v 3. v D 

V d 

64. A nucleus at, rest splits into two nuclear parts 

having radii in the ratio 1:2. Their velocities 

are in the ratio. 

	

1. 8:1 
	

2. 6:1 

	

3. 4:2 
	

4. 2:1 

	

64. f4VP'T 4 Rift 	-) 	 4)) 14 

	

c,tc-11 	 f' ,--RTA 

3-111Tiff 1 : 2 	I \3-1c, 	4 11 4)1 31-17ff 

- 
1. 8:1 	 2. 6:1 

3. 4:2 	 4. 2:1 
65. Which of the following is self adjusting force 

1. Static Friction 	2. Limiting Friction 

3. Dynamic Friction 	4. Sliding Friction 

65. 	•-c.1c1: 	 t 

1. 	.-2=TO-- -Erulur 	2. 44-11-c1 "EAT 

3. Tlfd 	U 	 4. 14)flr.1.-1 -EOM- 

66. Inside cell current is developed by - 

1. Movement of -ve charge 

2. Movement of +ve charge 
3. Current developed only outside cell 
4. 1) and 2) both 

66. 	 DIRT 	t 

1. -ve 3T-14T 

2. +ve 3fT47T 	tic1.) 

3. URT cc.1QT ci 	.477 qfft t I 

4. 1) 	.2-T1 2) q)-1) 

67. Momentum has same units as that o 
1. Impulse 

2. Torque 

3. Moment of momentum 

4. Couple 

67. 	I   ter t I 

1. 31TT 

2. 34171- 

3. tgrzf -frit 	aro-r 

4. fir- T 

68. A particle is' launched from ground at 60° with 

kinetic energy K. What is its kinetic energy at 

its highest point. 

1. k 	 2. K 

68. 	c.t-) War IT-rd 

60° 	WFT 	 I \3-ur-R-19 ftS 

4. u--T-4 	-g)-Trt l 

3. 0 
	

4. 
4 

1 .  

3. 0 

2. K 

4. 	 
4 
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69. A motor boat is moving with a constant 
velocity 	of 	10m/s 	encounters 	water 
resistance of 1000 N. The Power of the motor 
boat will be 
1. 10 kW 	 2. 110 kW 
3. 1000 kW 	4. 106  kW 

69. c,i) 	liTe- 	6i)t 	10m/s 	ct*) 	,4-1 4-11-1 	*TT 	tf 

1-11.1) *it----4 1000N TT Girl TT-6-Ti TTet 

- t I TIY-C-  641t 4 afirdT /Power eft 

1. 10 kW 	 2. 110 kW 
3. 1000 kW 	4. 106  kW 

70. An ice cube having a large air bubble is 

floating in water in ayough. When the whole 

of ice melts, the level of water in trough. 

1. Falls 

2. Rise 

3. Remains same 

4. First rise then fall 

	

3. 	ct-) 	\9411-1  

70. 'cil '-n4 	4 t # 	cp Ga Th-T cchi f -R-iA 
t) 	c1) 	TT SriV,11 t, 	c-1,< 	t 14141 * 

0(1 	tR 	ct-e41 g1T14 #71, 

t 
3-TIR 	ret 	61 (- 

ffEra. 	-rOt 
1. firT-dT 

2. \30cII 

4. 	rf6r 	\16(11 feb- 	firR-ffT 

71. A man weight Wkg on the surface of earth. 
What is his weight at a height equal to R, R 
is, Radius of earth. 
1. W 	 2. W/2 
3. W/4 	 4. W/8 

71. Wkg 917 

. 74 

.ct) 3Tr'1 Th-T 12121  4 	1c16 TR 

4 tic16 t R 4;-cili TR \3,41cPI ITTR.  

t I .0- 	.3-wit, 1:1241 4 - --zi IT R 

1. W 	 2. W/2 
3. W/4 	 4. W/8 

72. A balloon has 5g air. A small hole is pierced 
into it the air escapes at a uniform rate with a 10) 
velocity 	of 	4cm/s 	if 	the 	balloon 	stricks 
completety in 2.5s. then the average force 
acting on the balloon is 
1. 2 dyne 	 2. 50 dyne 

3. 8 dyne 	 4. 8 N 

72. t) 1X-T- 	# clig -TT qa1411.1 	5g t I 

16-q f+-7:21T 4 Ril, .UT114 34 	.1-?j 4cm/s 

.) 	-1 4 il'i 

2.5s T W 

4 1 t -ore fcr,eicil t 1 -zs-wR-r 
	 ftfT3 'licit * 

	

2. 	50 

	

4. 	8 

I 71qT EF 61(i 

(14 	4 11 

	

1. 	2 

	

3. 	8 

- 

li.-1 5IT-1 

51 	1 .R=07 

73. A machine 
each of mass 
v. then the force 
1. mng 

3. mnvg 

gun fires n bullets per second, 
in. If the speed of each bullet is 

of recoil is 
2. mnv 

mnv 

73, -) 	7411-9' 	Iq, 	-tfwu-- 	# 	(.1,) 	\i-pifri 

c,e4 1-ii-i 	m 4 	n 	I-ft-A- 	fct)scici) 
wr *Tr v t, -M 

2. mnv 

* 	i' --il-ti 
IT Tit-At 

I 

mnv 

.4TERTt TT 4F 

6111 

1. mng 

3. mnvg 

4. 
g 

4. 
g 

74. A man 
is moving 
apparent 

3. 	14(i  

1. 41+1 

of weight 

g 

_ a- 
g 

upward 
weight 

w is standing 
with an acceleration 

of the man is 

2. 	W 

4. 

on a lift which 
a. the 

i 	02  1- -.- , 
g -  

74. w 1TR ccp 

.). ft 
TT 3TTqt 	ct.) 19 # 

31't 	7T 

-- 

1
, 	a

2 

1 ----- 
g- 

tg.1 t 

a muf 34 \34 	Thci s<g).  t 

U)* 3r1-4711 

1. 	w(1+ 

3. 4- 

TT 

a 
g 

1 1- 
g ) 

1-TR tr vi N 41 I 

2. 	W 

4. w 
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75. 	A body covers the first half of distance with a 
velocity v and the second half in double the

time taken for first half the average velocity is 
- 

1. v 	 2. 	v/2 

2 3. 2 v/3 	 4. 
3v 

75. 	-) cH-q "cl-Tj r 3Th et, 	v 	41 t q 	T-4. 

3f 	VC tr-6-- 34 s4 h) 3-T9-4 -4 cle.1 WTel. 

t I 
	UN-q TT 3ftu-d- 	4 1 6)4ii - 

. 	V 	 2. 	v/2 
 1 

3. 2 v/3 	 4. 	
2 
3v 

76. 	The 
with 
(R = 

variation of acceleration 
height and depth (r) in 
Radius of earth) 

/I\ 
1 

due to gravity g 
shown correctly 

76. -cpt 	'ER 	tV)CCI 	cmui 	cc.Nui 	(g) 	cm 

3;-(414. 	U2TT 	+I6 	r 	c 	Tim 	LIN 	-1 	ci.)I 

4,iiiti 61,11 - 
I'‘ 1 

I 
1. 	g 2. ' 

gg 
g 

r 1. 2. 	
r 

R 	
r=

R 
R 	---> 

A 

g 

r----> 
R 	--?.: 

g 

• 

g 

--- 	
4. 

3. 
g 

4. R 	r 	-, 	 r-R 	. • R 	r- 	, 	 R 	- 

77. One of the rectangular component of a force 
of 	50N 	is 	30N. 	The 	other 	rectangular 

component will be - 
1. 40N 	 2. 30N 
3. 35N 	 4. 45N 

77. 	50N * (Id cP1 ych 3T1trd1MR ~c 	 30N tr 

i\J1c1,1 V-NI-Itch 611 - 

	

1. 40N 	 2. 30N 

	

3. 35N 	 4. 45N 

78. 	When the momentum of body increases by 
10% its K.E. increase by - 
1. 21% 	 2. 40% 
3. 44% 	 4. None 

78. 	ft-4r cN-q * 	441 	cp) 	10% t q.1. ftziT 

--- 	--e 	Tf ---- thvii qq, 7-rer t 1 

1. 21% 	 2. 40% 

3. 44% 	 4. T-31 t c1.)) 	--if. 

79. 	The 
shown. 
x = 0 

F 

(N) 

F-x 

its 

10 

If 
graph of particle of mass 100g is 

Particle begin to move from rest 
velocity at x = 12 is 

79. 	100g 	qczlii.-1 	c. 	(Put 	ft.q- 	F - x 	VTIF 

ft-TIT 	n-li 	t I 	Trf - 	coui 	D,fli-icNq-r x = 0 

e(c1-11 	7j ct-) 	't 	x = 	12 	tH 	-lc.i-)l 	4 1 

611 - F 
(N) 
t 
I 10 

12 
0 	4 	8 	12 

-77--* 	(tre7) 
1. 10 m/s 	 2. 20 m/s 
3. 30 m/s 	 4. 40 m/s 

--II. (Meters)x (Meters) 

1. 10 m/s 	 . 	2. 20 m/s 

3. 30 m/s 	 4. 40 m/s 

80. 	Velocity of sound in air at N.T.P. is 332 m/s. 
What will be its velocity when pressure is 
doubled and Temperature remains same. 
1. 332 m/s 

2. 664 m/s 

3. 166 m/s 

4. 0 

80. 	N.T.P. t cilg 14 wf 	-1- 	332 m/s t I 

. -- 1-4 ct)) t 	VI 	cl".1* tH .4 014 	cl)) 	*-ii-1 

7Z3F4 1T. 	\i*icoi 	4-1 t viN4ii I 

1. 332 m/s
2. 664 m/s 
3. 166 m/s 
4. 0 
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81.. 	For given acceleration 
suitable velocity 

a 

time graph 
- time graph the most 

will be. 
-I'M' 	-qt 81. 	ft - -TT7 ccRui - Tfn-zi vTIT * 	Ti 

3I-ITI-cl 

a 

311:14 IATEF 6) 4 11 - 

v t-0. v  A v t ___ ► 	N., 

1. 
t 	

2. / 1. 
t 	

2.

► 
 / 

N.r v • v  

 	t 

3. 4. ) 
o,t 

v Aiiii,_÷  

t 
3. j 	 4. 

o.t t 

82. 	A boy 

will clear 

lOrn below 

	

1. 	1 s 

	

3. 	0.6 

releases a ball from top of a building it 

a window 2m high at a distance of 

the top in nearly. 

2. 	1.3 s 

s 	 4. 0.13 s 

82. 	Bch 	c,ict)1 	c,t) 	41q 	cl)) 	ITI-1T3 	3t 	f 
34 131---dT * I cI6 \3-cel f 3)-  104-0 tt 
R.QA-ff 2t0 	4,-c4 	4 	IZq4 	co) 	r+---d--  
1T4 # LIN ci.) 411 - 

1. 	1 s 	 2. 	1.3 s 
3. 0.6 s 	 4. 0.13 s 

83. 	A 	particle 

sec. is. 

1. 

acceleration 
The displacement 

'),t,  

starts 	from 	rest 	with 	uniform 
a its velocity after n second is v. 

of the body in the last two 

=--- 	1) 	 2. 	v(n  - I) ( n  - 

83. 	) 	cOul 	1 	1 4-11cNql. 	34 	ccNul 	a 	t 	•cicl-11 

ci-Pcli t I .371-4-  n tTh-lz 	* GlIq 	c 41 
v ef -ff).  cOul 	-URI 3-itli 2 T)---V: 	# c-R1 

f+-ZIT 4 l -4 l 	rao_rrR X14 111 

1. 	 2. 	v(11 	1)  -(n - 0 
3.  

n 	 n 2v 

v(n + 1) 	4. 	2v(n +1) n 	 n 
3 	v(n + 1) 	 4. 	2v(n +1) . n 	 n 

/7 	 n 
84. 	Which 

. 	KE(k) 
above 

KE 
1. 

of the following best 
of freely falling body and 
the ground. 

KE 

2. 

represents of 

/ 

84. .-cici.-31 	\h)t-1 	-0 .t- 	firedr  	ck-cl * f' --q.  
its height h 33T-4-  Tff'd-7 	i,)‘3-il 	2-1f 	-r-11 	* 	TIPT 

1. 
KE  

13TEF 	6)+ I1 I 

KE 

2. / 

KE 

h 

KE 

h 

KE 

h 

KE 

h 

3. . 	4. 
;1 

3. 4. 
 

h 	 h 
h 	 h 

85. In 
particle 

the figure of transverse wave which pair of 
is in phase 

B 	 H 
 

L 

85. 	3-1T17% c141 * ft .  # c11-1 	 t vii 	cp 
t141I.1 	ct,clf # t - 

8 	 H 

A 	C 	G 	1 	L 

1 . 

3. 

K 

A, G 	 2. D, G 
B, E 	 4. C, K 

Y 

. 	1. 
3. 

D 	
F 	 t 	> 

E 	 K 

A, G 	 2. D, G 
B, E 	 4. C, K 
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1 /431z11 	Oct) v11L11 - 

V 0  

V 2  
2. 	° 

4g 

4. V°2 
8g 

V 2  
1. 	° 

2g 

3 v0 2 
6g 

m 
	 7:1-j  

1. 
v
"

2 

2g 

V 2  
3. 	 

6g 

2. 

4. 

V0 

4g 

V0 2  

8g 

86. A sphere of mass m moving horizontally with 
velocity vo  collide against a pendulum bob of 
mass m. If the two masses stick together 
after the collision then the maximum height 
attained is 

86. 	-) 4 11el1 fict-)1 c oti411.-1 m t ard--  A V0  

m qC2-14-11'i 	CvitC fl  Q1 AC1Ct) 

tCfrflCII t I tCI‘) 	Gliq 	 4n C) 	Ct) 

tH 	vile 	1 f 	31f4b-ali 

87. On loading a tuning fork, its frequency. 
1. Increases 
2. Decreases 
3. Remain same 
4. First increases then decreases 

88 A ship of mass 3 x 107  kg initially at rest is 
pulled by a force of 5 x 104N. Through a 
distance of 3m. Assuming that the resistance 
due to water is negligible. The speed of the 
ship is 
1. 5 m/s 	 2. 0.1 m/s 
3. 1.5 m/s 	 4. 60 m/s  

87. 	ct).) 	Tqf 4 3ir-p- 

1. 

2. "EiZt 

3. L. c-f-) • -1411-1 

4. 7cr-.  et feb-R.  Ert-th t 
88. 	L ch trit 	 RTN-14-)1 .--a-14-11-1 	107  

kg t 	 k 5 x 104N 

-dtqf 	 I 31TF trit 	3 M4 

	61 a u16lvi c6)ti I rl .0-)Tfr I 

1. 5 m/s 	 2. 0.1 m/s 
3. 1.5 m/s 	 4. 60 m/s 

3x 

89. A man sitting in a train in motion is facing the 

engine. He tosses a coin up, the coin falls 

behind him, the trains is moving. 

1. Forward with uniform speed 

2. Backward with uniform speed 

3. Forward with acceleration 

4. Backward with acceleration 

89. Bch wrer 	-) 	q11114 	*vhf 4 

	

a" ct), cj 	* 	ct.) 

ti 	RT-4-wr 	t 1 

\Aim *, 	 7-6't t 1 
1. ') ,64-11-1 zrf 	31-pt 4 -T:F 

2. L  c-4) 1411-1 Tit .R4 1-11 

3. cckul 	31-14 4 c -R-EF 

4. 0'01 t LH) 4 -ff.REF 

90. Which graph (distance - time) represents the 
accelerated motion :- (D = Distance) 

1. 	 2. 

t 	 t  

90. ct1.-1 -ifitF 	Tft 	- 

(D = Distance) 

1. t 2. 

t 

3. 	 4. t 	 t 

t 

4. 	
t -OP 

3. t 
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91. A mixture of milk and groundnut oil can be 
separated by :- 
1. Sublimation 

2. Evaporation 

3. Separating funnel 

4. Filtration 

91. TT 3t17 iiTTEc 	* c)e-I 	1lp,4-0-1- 	ct-;f--7 

T KT- r 	s6ct-)c11 	t 
1. -41:F-d-9- -0-R-r 
2. clItAcl- ul 	-1---T 

3.  

4. b51-1-1 1T 

92. is 	added 	to 	disinfect 	water 92. ,If. c.t)ul 	gitTfT 	1.1 	Ert 	ci-)) 	"1-E-fuj 
during purification. 
1. Potassium permanganate 
2. Chlorine 
3. Betadine 
4. Potash alum 

-1t-- 	4- F4 	f -4   	iriRlI 	vilcil 

I 

1. 	41814144i L-IW.)t 	2. 	c/-cl 	--I 

3. 	cif 	.-1 	 4. 	-EnZTT -cr:f 

93. Which gas being filled in a weather balloon. 
1. Helium 	 2. Neon 
3. Hydrogen 	4. Nitrogen 

93. 4-Ti- 	clic) ql----r 	14 	 t4T 41-ti 	-TOr t I 

1. 	1-14-1 	2. 	f4zrF 

3. 	613-1.-1 	4. 	--13-1-1 

94. Formula of Sodium Zincate is : 
1. Na2ZnO3 	 2. NaZnO2 
3. NaZn20 	 4. Na2ZnO2 

94. -1)r14-1 f4--Z 	CPI 	',--=i 	t 

1. Na2ZnO3 	 2. NaZnO2  
3. NaZn20 	 4. Na2ZnO2  

95. The alloy used for dental filling is : 

1. Amalgam 	2. Brass 

3. Bronze 	 4. Manganin 

95. 'q-lci) 44 1.-TRT-4` 	.- f.6t  	fwrg 

cm 1r 	IT ullcli * I 

1. 	171-T4 - 1 ,34uT 	2. 	1 

3. 	. 	.1-- 	 4. 	4).-i411.-i 

96. The element which normally exist in the liquid 
state are 
1. Bromine and Iodine 

2. Mercury and chlorine 

3. Iodine and mercury 

4. Bromine and mercury 

96. 4.1 t cicci 	'd14-11--41 --1-4 t eaTT 31-4R--M -44 

firdt t I 

1. rff 3N 3f1-tit 

2. ITNT 3N cl.ei)--1 

3. 3ITzi'lft-9-  3N 1-417T 
4 	-419-  3N TINT 

97. If 20m1 of ethanol is present in 50m1 of its 
aqueous solution. The concentration of this 
solution is: 

	

1. 20% 	 2. 25% 

	

3. 30% 	 4. 40% 

97. zfit 50m1 	-AR:1 1- c,R1-1 # 20m1 .q.2A-9-M- 

ic,-W-11 	until 	t, 	(-I) 	ic,R1,-1 	4 	flic-11 	eft: 

1. 20% 	 2. 25% 
 

3. 30% 	 4. 40% 
 

98. In Cu20, Cu is : 
1. Monovalent 	2. Bivalent 
3. Trivalent 	 4. 	Neutral 

98. Cu20 k Cu 	)411 • 

1. 	c.f)c>i 	-i,L1)\sict) 	2. 	.f - 	•-kl)uici-) 

3. 	f 	-iz4)vict) 	4. 	\3qA.-1 

99. Among the following which is correct formula: 
1. CaCI 	 2. NaS 
3. Na3N 	 4. Na(NO3)2 

99. ri -4'  c.rni-i 	,th 	q-A -fl--6t t : 

1. CaCI 	 2. NaS 
3. Na3N 	 4. Na(NO3)2 
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100. 	 Radio active isotope is used to 

determine the activity of thyroid gland. 

1. Cobalt - 60 	2. Uranium - 235 

3. Iodine - 130 	4. Iodine - 131 

   

101. Radon is 

1. An inert gas 

3. An explosive 

2. An artificial fibre 

4. A metal 

102. Temporary hardness in water is due to which 
of one the following calcium and magnesium? 
1. Hydrogen Carbonate 

2. Carbonates 

3. Chlorides 

4. Sulphates 

110. The Chemical used for starch test is: 

1. Iodine Crystal 	2. Iodine Solution 

3. Iodine Powder 	4. Potassium Iodine 

100. 	 'IA-. 4 ,2114)Licit cp) \AN.) 

31-rot-d- T col 

f+-71-r undi t 

1. ct-,1,sucrt - 60 	2. T&ftzlii - 235 

3. 3TRI-Ift-9.  - 130 	4. 317Ititff - 131 

103. Symbol of tin is 

1. Pb 	 2. Ti 

3. Tn 	 4. Sn 

104. Which of the following elements corrodes 

rapidly? ' 

1. Aluminum 
	

2. Iron 

3. Zinc 
	

4. Silver 

105. . 	element 	does 	not 	exhibit 

electrovalence. 

1. Calcium 	 2. Chromium 

3. Carbon 	 4. Cadmium 

106. The SI unit of de'nsity is: 

1. g/cm3 
	

2. kg/cm3  
3. 

g/2 

	

4. kg/m3  

107. Solder is an alloy of 	 metals. 

1. Pb and Sn 	2. Zn and Pb 

3. Pb and Zn 	4. Zn and Sn 

108. Valence of permanganate ion is : 

	

1. 2 	 2. 1 

	

3.3 	 4.4 

109. BaCl2  + H2SO4  -› BaSO4  + 2HCI is an 

example of: 

1. Combination Reaction 

2. Decomposition Reaction 

3. Displacement Reaction 

4. Double Displacement Reaction  

101. 	t 

	

1. 	L ch 	 2. 	c.1.) 	 fT 

	

3. 	c.t-) %-4-t))tct) t-lq 10 4. lc  z-lTg 

102. kyi ci cbrl 37-21-Rit cpol,o1 cP>e,4e4 41 3117 

coRui erth 

1. 	 ct-)N ,)t 2. 	ct.)16li.). 

3. crei 	 4. 3T-0--i5Z 

103. ft9- 
1. Pb 
	

2. Ti 

3. Tn 
	

4. Sn 

a6 

105. 

1. 

3. 

106. 	chl SI 411-Act) t :- 

1. g/cm3 	 2. kg/cm3  
3.  g/2 	 4. kg/m3  

107. ail c,-   UTg3T)- 	it ftrwrg * 

1. Pb 3117 Sn 	2. Zn 3117 Pb 

3. Pb 3t Zn 	4. Zn 3117 Sn 

108. I-1‘0) 4 l ,)t 3T-149. 	(poi 	t 

1.2 	 2. 1 

3. 3 	 4. 4 

  

  

   

109. BaCl2  + H2SO4  -> BaSO4  + 2HCI 

1. • -iLi)k)-hi 3ftrftz1r col 

2. 3T(TEIZ-9-  3Tftt7IT chi 

3. F47-247:1-9-  31f tzET cOl 

4. c1 	 34-141tziT cOl 

110. "•-t1t" 	ErtaTur 	 cot 

vth-Tr_f+-zr-r Qin t 

1. 31-gh-ft-ff -14) -tc.1 	2. 3T-Rfleff 1- (1Li 

3. 3-T-Rftit-9-  L-1 I \3 	4. 71-8-ftg1T1 3Trzt1 

104. 1 4--111Z1c-1 	t 	Mc!" 

61or t? 

1. 

3. 

2. 

uk-c1I 4. 

	 Mt! 

ct)ik.11-1 

WE4-9- 

2. 41Li4-1 

4.1-14-1 

9-efl k l* 1 

S/27 E0D/17-(1X)-3A 
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111. The valence of an element depends upon the : 

1. Total number of Proton in an atom. -R-•-dr 

2. Mass number of an atom. 

3. Total number of neutrons in atom. 

4. Total number of electrons in the outermost 

shell of an atom. 

111. Bch 	cicci 	4 	ti4sicoc1i   t 	r4.0 

t I 

1. Bch tRlirul -4 M-er9):  c6) cgd tk,q4i AR I 

2. L c,t) tHiTrul 4 	cc1-ii-( tiv-ii -ER I 

3. Lct) ITR-Frol A-  V-9)-  4 ctp-ks.z4i zi-R.  I 

4. c,i-) ETTFITI3j 4 Tr44 T--6-tt --a-TT -4 
Oci-0-11.  4 crp 	1,q.4i IF I 

112. 	 has high density. 112. 	-1-4t1 3T-ir- 	t4.-icci  	wr 61411 1 
1. Lead 	, 	2. Kerosene Oil 
3. Iron 	' 	4. Water 

1. 	AlTir 	 2. 	-Mt Th-i 	oi 

3. 	oil 	 4. 	v1ei 

113. 'Tooth paste' is an example of : 
1. Colloid 	 2. Suspension 
2. Solution 	 4. Aerosol 

113. 	VT 	,--t" Bch \3qI6'M t : 

1. 	co)riRks wr 	2. 	(. e.issiTi WI- 

3. 	IcriLi-i 	Th-T 	4. 	)-i)(1 	Th-T 

114. Acid present in 'Tamarind' 
1. Oxalic Acid 	2. Formic Acid 
3. Lactic Acid 	4. Tartaric Acid 

114. Tit 14 	 3111.  HMI v1ld1 t I 

1. 	3T-Mr'6- 	311 f 	2. 	th-TfitcP 31-1 1 

3. 	el Reg) 311 f 	4. 	ei8Rct) 3111 

115. Freezing mixture is: 
1. Ice plus common salt 
2. Ice plus potash alum 
3. Ice plus baking soda 
4. Ice plus washing soda 

115. 	fJ-1c14 ftisglIT t : 

1 	EitZ 34R. 	A cue) -Pict) 

P- 	30 14 2. 	6 	)tcfra 
 

3. 	Glt- 	30 *WIT 39)--- 

4. 	GI 	3F OA V ti 51 

116. Which rays are originated when cathode rays 
strikes on hard metal surface? 
1. Gamma Rays 	2. Anode Rays 

3. i3 - Rays 	 4. X - Rays 

116. 	ct-)6) 	sug 	tic-16 	tR 	tlf- 	f+-711ft 

‘P"--R t cP1-1-4 -r--u)- 	c-L-1,-,-1 'Mr t I 

1. 	4  1 1 4-1 I - 1:--13). 	2. 	.-1) 	- r+--14 

3. 	AtdT - ft-*' 	4. 	7-4Ti - r+--* 
117. During Roasting of Zinc blende, It converts 

to: 
1. ZnO 	 2. ZnSO4  
3. ZnCO3 	 4. Zn 

117. l --. 	.gft 	Thl. 	I-19-4 	t  	14 

-4---F uncil t 

1. ZnO 	 2. ZnSO4  
3. ZnCO3 	 4. Zn 

118. 	 is used to detect "Tumors". 118. Z 	r 317ftT1-9- 	 * AthIT 1 
1. 	Na - 24 	 2. 	1-131 

3. Co - 60 	 4. As - 74 
6)01 t I 

1. Na - 24 	 2. I-131 

3. Co - 60 	 4. As - 74 

119. Rubber stamp is made by - 
1. Thermosetting plastic 
2. Thermo plastic 
3. PVC 
4. PAN 

11.9. 7-07 4 -ifrg- 	 4 GA 
1. 	276-edt t-ri i 

2. 2.11ftTRZ-T 

3. PVC 

4. PAN 
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120. Which of the following causes no reaction? 
1. CuSO4  + Zn 	2. CuSO4  + Fe 
3. CuSO4  + Ag 	4. CuSO4  + Mg 

120. 	f 1-.111.6c1 4 tr 01-1 31"ThitzfT .-Igi ct) ,11 I 
1. CuSO4 +Zn 	2. CuSO4  + Fe 
3. CuSO4 +Ag 	4. CuSO4 + Mg 

121. 	 is added in ethanol to make it 121. L1q121 	ftr6T4 	t 	firs 	ii1-) 
unfit for drinking 
1. Methanal 	2. Propanal 
3. Propanol 	4. Methanol 

l-z- r 	-1g1 	6c11 I 

1. 	F 	2. ATE  144-q 

3. 	Ml t).-11c1 	4. 	421-F 

122. Deficiency of which 	Vitamin 	causes 122. 	Wv1-1-1 	PitziT 	-fttsch 	6)') 	Th-T 	c,1) 	cOkul 
infertility. 

1. E 	 2. K 

3. H 	 4. D 

ftA.-f 	 4 co4-11 tTft I 
1. E 	 2. K 
. H 	 4. D  3 

123. Nylon fibre has : 
1. Ester linkage 	2. Amide linkage 
3. Ether linkage 	4. Phosphate linkage 

123. 	-IRlei-hi 	# 6101 t I 
1 	tes 31-1*-1-9- 	2. 	41I*5 311*1-9.  

3. 	- 2-1R 3 	I H 	4. 	Cbtitz 3F-T4zIff 

124. 	is added to preserve squashes 124. 	NGIcl 	ct)) 	tiftifau 	.R-- 31-. 	f 

1. SO2 	 2. NO2  

3. SO3 	 4. N20 

fir--6-Rrr uflor t I 
1. SO2 	 2. NO2  
3. SO3 	 4. N20 

125. The only vitamin with metal atom in, it is : 
1. Vitamin A 	2. Vitamin K 
3. Vitamin B12 	 4. Vitamin E 

125. 	cJ 	f1t11*-I -131-14 sTl-g 	..cift-P-Td.  tth t I 

1. 	Nta-t A 	2. 	fn.-1 K 

3. 	ItA-1 	B12 	2. 	f -z-ifil-9-  E 

126. 	 is used in paints. ".-t" 126. 	1 	 -g-th-rr i'-zrr v1Ic11 * I 
1. Terylene 	2. Nylon 
3. Glyptal 	 4. Chloroprene 

1. 	Rel).-i 	2. 	11Mrii-f 

3. 	Rc-It-tei 	4. 	c1-ril1M-1 

127. In shaving creams 	 is added to 127. t-a V3EF-dT chl 'lct-)'1 * WI tft*Tf ThlTf 4 
prevent rapid drying. 
1. Methanol 	2. Glycerol 
3. Ethanol 	 4. Glycol 

 	feilql 	‘31I01 	* I 

1. 	112r*F" 	 2. 	Re-I,WIri 

3. 	w--4t - 	4. 	J eil*ct3ici 

128. Glass is a : 
1. 	Liquid 	 2. 	Colloid 
3. Pseudo solid 	4. Crystalline solid 

128. 	ct;11-c1 t Lc : 

1. 	-q- 	 2. 	ch e1I*5 

3. 	3TP-TRII -a-1-u 	4.teelle4 ail tl 

129. A homogeneous mixture contains two liquids. 
How are they separated? 
1. By filtration 	2. 	By evaporation 
3. By distillation 	4. By condensation 

129. t qcII . 1" 	c,t-) -#41TIff fil,gur * I 	\i--4 *# 

3i-6-Tr f -TTT 	flcpcn ti 

.-q-i  1. 	1- '-z.i.-1 APT 	2. 	ciPs-I 	m  
3. 	3T171-q-9.  5II 	4. 	tit4.-t-i 

130. In CuSO4. 5H20, 	 H2O molecules 130. CuSO4.5H20 -34 \rid   H2O 311:j 
are bounded by "H" bond. 

	

1. 4 	 2. 	1 

	

3. 5 	 4. 3 

H-4z.N t 	610 * I 
1. 4 	 2. 	1 
3. 5 	 4. 3 
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131 The cells of cork have a chemical substance 

in their walls that makes them impervious to 

water. This chemical substance is : 

1. Pectin 	 2. Lectin 

3. Suberin 	 4. Lignin  

131. chlch OM Mil cP)1lc0134 4 fct) 
4q121-  61cii t, 

f 	3T 	.1-1101 t 	ftit41fct) tiqtzt t: 

1. 414-d-ff 	 2. ft--d-9 

3. 31-4ft9. 	 4. 

132. Which one of the following is not a eukaryote: 
1. Euglena 	 2. Anabaena 
3. Spirogyra 	 4. Agaricus  

132. 	 A .R4 c61-1 e0Re4lt rig) t : 

1. RT-d -q7- 	 2. cf-I/ 

3. t'44/.0.1/4Y/ 	4. Rch6 

133. The five kingdom classification was proposed 

by : 
1. Copeland 	 2. Aristotle 

3. Whittaker 	4. Linnaeus  

133. 1-1I -ci u1410 c4 411c-Pui M-c11nd r+-4T 2TT : 

1. ct))Liel.- 	 2. 3TR7-1, 

3. R6c4.), 	 4. 1- -N-1 

134. Centre of hunger is located in: 

1. Forebrain 	 2. Midbrain 

3. Hindbrain 	 4. Spinal Cord  

134. WI (-74) cbi 	 W:TR-2,1-ff 611  

1. 31111:11ff 	2. TiziFfft 14 

3. 4 -r-41-iRc1tcp 14 	4. 	A 

135. Red Blood Corpuscles are formed in: 

1. Liver 	 2. Kidneys 

3. Small intestine 	4. Bone marrow  

135. 010 Tqff cO)D1c1)131).  ch1ftlifuT 6)01 t : 

1. TITff 	 2. 4,01  

3. 135)1 311ff 14 	4. 31R-2.4.  

136. Moss and Ferns are found in moist and 

shady places, because they : 

1. Need low temperature for nutrition. 

2. Do not need sun light for photosynthesis 

3. Require water for fertilisation. 

4. Can not compete with sun loving plants.  

136. 4-11N-1   3T1 t 3 	umiqk 7-Q T1-9). 1:17 

v-10 *, 	 : 

1. wfkr* 	oiL44-11.-i 4 
31-r-azzrwm 	I 

2. McOM 	 wpm 4 
3Tr-azzuw-d-r 9t1tth t I 

3.fkik--4ff 	f 	141-11- 	3TM-7z1-WM 

eft t I 

4. TT 	itzt 	TiTzT CrftRT-TUI 

-Ict)c) I 

137. The species of plants and animals found 

exclusively in a particular area are called : 

1. Endemic 	 2. Endangered 

3. Biological 	 4. Alien  

137. tilz•TI 	,3-v#   r+-iTt 

t, c16 

cr)6(110) t 

1. fftrsOlt 	2. 

3. IftW 	 4. tftziff 

138. kiRPc.1.-) 	ch4R1 	t : 

1. Mtk 	 2. •)(V-1)ul 

3. 	 4. 	-ft-a-  \304) 

138. Cotton is chemically : 

1. Protein 
	

2. Cellulose 

3. Steroids 
	

4. Complex tissue 

139. Which of the following organism does not 

follow 'Cell Theory' : 

1. Bacteria 	 2. Virus 

3. Fungi 	 4. Plants  

139. R4---ifiZqcr 	col-i TT 3r 	colDtcol 

: 

1. Ir-o-rol 	 2. r4tiTuj 

3. cOcIch 	 4. Ifta 
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140. The Largest 
1. Medulla 
3. Cerebella  

141. The Excreto 
1. Uniferou 
3. Nephridi 

142. Open Vasc 
1. Prawn 
3. Fish 

143. 'Agar-Agar' 
1. Algae 
3. Moss 

144. Yeast is diff 
1. Unicellul 
3. Prokaryo 

145. Wings of an 
example of 
1. Homolog 
3. Vertigeal 

146. The Book-
1. Linnaeu 
3. Fleming 

147. 'Sleeping Si 
1. Staphylo 
2. Leishma 
3. Trypano 
4. SARS Vi 

148. Outer cover 
1. Lipid 
3. RNA 

149. Which one 
biodegrada 
1. Paper 
3. Cotton C 

150. Right part o 
1. Oxygen 
2. De-oxyg 
3. Mixed bI 
4. No bloo 

Part of human brain is : 

)blongata 	2. Midbrain 
IM 	 4. Cerebrum 

140. 	4-11-1c1- 4-1R-citch 	4)1 TiTi4 611 I-TPT * : 

1. 	14-iFT 3TYlt-dT 	2. 	liaFfi 

3. 	3T@TlittzF 	4. 	S•1 4-I1 	I4) 

ry Units of Annelida are : 
; tubule 	2. Flame cells 
) 	4. 	Malpighian tubule 

- m-11 141. 	i # \3c- -N-1- -1 	4 	t : 

1. 	t :ic10-1) 9f6M-1- 	2. 	vc1101 ch)DlcrAl 

3. 	cdct-ct)ct) 	01b1-11) 	4. 	Ac4411 	.-Acill' 

liar System is found in : 
2. Snakes 
4. Man 

142. RpT LIRti-cNul ci-A LIMl ulic11 t : 

1. 	-A-Trr -4 	 2. 	x(114 	14 

-4 3. 	1TEFA. 74 	4. 	4iTe4 

gel is obtained from : 
2. Bacteria 
4. Fungi 

"31-TR-317171  143. 	 31e-i .PfTf r+-TIT uncli * : 

1. 	ftTF t 	2. 	11-4Tuj t 

3. 	41-k1 t 	 4. 	ct)cict) .R-4 

arent from Bacteria in being : 
3r 	2. 	Multicellular 
to 	4. Eukaryote 

insect and wings of a bird are an 

ous organs 2. Analogous organs 
organs 	4. Fossils 

144. 	Ott, c)craRq1 t -1 --U Mc4-)k 1.--1 t : 

1 	lch 	ch11c6)-4 	2. 	61§ 	ch11c6)e-I 

3. 	m14>Rt 	4. 	*OftztIZ 

145. 	t-k5 	traft 	t-kg k3q15'0I t : 

1. 	fli-futio 	3PT 	2. 	fl 4-1\1/4)t-f 3PT 

3. 	31-401-  3PT 	4. 	Acil 4-f 

Systema Naturae' was written by : 
2. Darwin 
4. Crick 

146. 	R-N-8411 	te" 	-11 4-ict) 	a--T, 	f -1-* 	gRT 

ftZt q, ci 	t 

1. 	fiq,1 	 2. 3Tf4-9' 

3. 	tO-Ri-Tr 	 4. 	ft 

ckness' is caused by : 
cocci 
lia 
soma 
rus 

"r4q-rq 147. 	u:ITf4" 	T coNct) t : 

1. xi-dti2/.cdchici2/.1- 

2. ei\w-Idelt 

3. i---/)‘iiiiii 

4. /%1/ V 3/77 ci\ii izi77§" 

ing of Virus is made up of : 
2. 	Protein 
4. DNA 

• 

148. 	f4islItj 4)1 '4-10I-  3TM713-1-  GI-II 	)-is T * : 

	

1. 	f -fr 	(cifli) 	col 	2. 	th-t9" M-1- 

	

3. 	3T-R 79.  7 cill 	4. 	79. 7 ct)i 

)f the following substance is non- 
)le? 

2. Manure 
loth 	4. DDT 

149. 	1 4--iiiZgc-1 	48141 14 0-1 	- 	1 	,11 

t? 

1. 	41:R 	 2. 

3. 	Vt cilt-II 	4. 	t.t.t. 

F Human Heart contains 
ted blood 
anated blood 
)od 

150. 	4-ii-ici-ji * --FErT ft-M 	14 	)(-11 * I 
1. 	3r1-4N-Trkff Ti4R.  

2. ft3r1-4t1---  TraR.  

3. fkkff wrw 

4. ct>1  
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151. Which one of the following pigment is most 
abundant in green plants? 
1. Chlorophyll - a 	2. Chlorophyll - b 
3. Carotene 	4. Xanthophyll 

151. 1 4-4-IWZqc1 	# 	c61-1 	TiT quiT 	Itt -4 

3rf4wm 14 yiqi vim! t? 

1. 	ctc,N)D)ri - 7 	2. 	ctv1))14)c,1 - 41-  

- 3. 	cWor).-i 	 4. 	----Q,1)-Wi 

152. Which one of the following is the indigenous 
breed of chickens? 
1. Plymonth Rock 
2. White White Leghorn 
3. Rhode Island Red 
4. Aseel 

2. 	(--)//A  

152. 	f*--11-ci Rsici 4 ct-s,)-1 T 11 4 ter ''N-C-1 t? 

1. 	LeitH7P-T Wc/, 

3. ‘'615 311. 11c4 ‘)s' 

4. 7 

153. Haemoglobin is dissolved in Plasma of Blood 
in: 
1. Earthworm 	2. Roundworm 
3. Tapeworm 	4. Insects

{3. 

153. -T--4[ * 	kyiiv-iii 	-4 	b-c)4-i 4 ci)R.-1 	II-6-r Om 	*, 

cI6 t : 
.. 

1. 	cripTT 	 2. 	TtEd-01 

ltiffif 	4. 	.ctd 

154. The group of plants which has naked embryo 
and specialised tissue for conduction of water 
is: 
1. Bryophytes 	2. Pteridophytes 
3. Thallophytes 	4. Gymnosperm 

154. 'NI cOF TIT- 	.1 -9-14 -14-1 TT 	)c-II t 	21f 

‘‘Tic -,l 	tiq6,1 	* 	.1 	fDittcpci 	thoct, 	Lii 

u110 	U>;:  U>; t 

1. 	§iN)i-t)id 	2. 	5 t-Pit 

3. 	2 1:i5W 	4. 	R3-1 4-1)V-14 

155. In Bacteria, Penicillin blocks the formation of : 
1. Cell membrane 	2. Nucleus 
3. Cell wall 	 4. Mitochondria 

155. t)fRicP1)-i, AtartjA 4 Gii.) co 	,lcokii t 

1. 	ct))1ct>1 	fIVAI- 	2. 	9T-1 	(c.c-t)) 

3. 	ct))P1c01 PI-% 	4. 	4-11t)c-0-1R-01 

156. The 	Cell 	Organelle 	which 	involves 	in 
detoxification of of poison and drugs is : 
1. Golgi Apparatus 

2. Lysosome 

3. Smooth Endoplasmic Reticulum 

4. Rough Endoplasmic Reticulum 

156. 	cl")Plctd 	3#1--- , 	ul) 	IN 	cTP-Ti 	cc-11 

iliN)ctlul 	ct)cll t, 	c15 t 

1. Trl-Al 	3k-Ictrul 

2. eil*AA41 

3. rATt.  3i-d-d-at vilfct)I 

4. RI-0-  34-dt-4 vII cIcPI 

157. Which ions are involved in clotting of blood? 

1. Na+ 	 2. K+  

3. Fe 	 4. Ca2+  

157. 	c01.1 	TIT 	3TRI-9- 	, ci-ci 	M-1- 	21-45T 	Efri.) 	4 

ft-TIT #-if4iici 6)01 *? 

1. Na+ 	 2. K+  
3. Fe3+ 	 4. Ca2+  

158. The best indicator of SO2  pollutants is : 
1. Algae 	 2. Lichens 
3. Bryophytes 	4. Pteridophytes 

158. SO2  qT1-- 	chl W4-0 31- 3T -R=OT t 

1. 	tqTa-  	2. 	eil.-i 

3. 	ORI)t-01*t 	4. 	5 (-01*t 

159. The vitamin which is generally excreted by 
human is : 
1. Vitamin - C 	2. Vitamin - A 
3. Vitamin - D 	4. Vitamin - E 

159. Rti1 -1, 	,i) 	Tr-fsEr 	gm 	\3c*Iruld 	r+7-1- 

utIcII t 	c16 * : 

- 	 - 1. 	itA-1 	A 	2. 	iti-1  
-4 3. 	Rt11. --1 - t 	4. 	1- tA.-1 - 
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160. What will happen to RBCs, if they are placed 
in hypertonic solution? 
1. The cells will swell up but riot-burst. 
2. The cells will shrink. 
3. The cells will remain uneffected. 
4. The cells will burst. 

160. 	iii 	4U 	ct) PIcPI311- 	cp) 	zifficHRTTET-411 
Roq.-r 4 Tqf-4 ER creu 61,11? 

1. ct))RIct4 1-10 	Tql-fl-, rF tb-tift Tgli 
2. cP)PlcOlq fti-t- 	-f\-hit I 

3. cP)RIct)131).  EH ci..)) 	.741T4 -1g1 611 I 

4. cP)1ict-4 Lot 'W-hfr 

161. Which 	one 	of 	the 	following 	pair 	is 
mismatched? 
1. Apis indica 	- Honey 
2. Bombyx mori 	- Silk 
3. Cycas revoluta 	- Sago 
4. Musca domestica 	- Lizard 

161. 	1. 4-.1A1Z.lo 4 (01-1 TT \)-41 +loci t? 

1. cii?/"F ed-07 	- VE6-q 

2. 6//1-414Y•1_  

3. xi-11.V 426 MR:FT 	- A 4  n 

4. l--H-ch/ aMR-ec/2/ 	- le-Ict)(4) 

162. In the following, which body part does not 
have voluntary muscle? 
1. Leg 	 2. Mouth 
3. Heart 	 4. Hand 

162. 	(--iff-Z.gcl 	.14, 	71--t17 * f+---1. 7-1TIT 4 -05--- 

-Ot 	--gI t-11 	-101? 

1. 	t) 	 2. 

'OPT 3. 	T<zi 	 4. 

163. A river with high 'Biochemical Oxygen 
Demand' (BOD) value is : 
1. 1. Highly polluted. 

2. Highly clean. 

3. High in oxygen level. 

4. None of these. 

',31cNk1tz4Rct) 163. tch 	-4, 	1. -14 	 3rrTztv9.  
4-rI 41' \i-G-4 ,cH t t, G6 

1. 31c-z1TRI- 	ITVIff t 1 

2. 3-1-c-71Ti 	•-c-i-cks) 	t I 

3. 3T14#1 	Th-T ,trig 	\itilql t I 

4. \t-k)c-t-c-i -4 t c-tU 	-1g1 I 

164. Which 	of the following 	is 	not included 	in 
Cryptogams? 
1. Thallophyta 	2. Pteridophyta 
3. Bryophyta 	4. Gymnosperm 	. 

164. 	14-.-ArZsici -4, 	cP1-1 7iT Tly 1)t-a 4)4-R1 4 

. -et 31-r-d-r t? 
1. 	0---A-cb-r-*--d-r 	2. 	U1-01ti.  

3. 	41R1)1-01*t1 	4. 	D4---I),N4 

165. Which one of the following is not a true fish? 
1. Shark 	 2. 	Eel 
3. Star Fish 	4. Sea Horse 

165. Ri--11R.go 4 cp1-1 Bch 4u01 -161 t? 
1. 	-q-rr- 	 2. 	(1 

3. 	,-t l'< fT 	4. 	Tiljt EI-11.  

166. Identify the process that requires ATP energy 
in order to take place. 
1. Osmosis 
2. Diffusion 
3. Facilitated transport 	 - 
4. Active Active transport 

166. 	fl 	yir,p4-1 	(.1)) 	46-c.11i, f--# 	t t 	---i 

c it31IcWict)c-11 ttr t I 
1. 	kNi*Nui 	2. 	f43-17u1 

• 3. 	Tj-Tiltzf LiRq5-I 	4. 	Tfit-TI 

167. Insectivorous plants grow in soils which have 
deficiency of : 
1. Calcium 	 2. Nitrogen 
3. Phosphorus 	4. Copper 

167. .f -Ti -Pt .4 	l--d 1TA. 14-1-414 	3 4i 	t, 364 
--qt ert t : 

1. 	cM*voi 4 	2. 	.-II 	\31-1 

3. 	N-t-t))-1 	cf 	4. 	ct;lt-N 4 
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2. CO2  

4. CO 

1. CFCs 

3. SO2  

2. AIDS 

4. Rabies 

170. In which disease, Immune 

seriously affected? 

1. Malaria 

3. T.B. 

2. X5.1 

4. 

PI-Ff c 6)01 t? 

1. 4-1c)Rq1.  
3. a.t. 

8 
25 

9 	 2. 8  
25 
	

27 

4. - 
5 

168. 3trA-9-  Lkci cbt 	 cbNui 6)cll *, 

c16 
1. CFCs 	 2. CO2  
3. SO2 	 4. CO 

169. Intercalary meristern is located at : 
1. Leaf Margin 

2. Tip of Stem 

3. Base of Leaf 

4. Tip of Root 

169. 31-dfdlZ f47-TT3-7:1\1 	71-4T vl I h 1 t 

1. Eft 	ER 

2. c1-) ft- 

3. -c4r 3TTZTR.'cR 

4. vii 

170. ft-€ s ) 	I # Arc 	c1 TTP-T17 	LI 34 System is 

_ 
171. Factors of (a2  +a)2 + 4(c 	+ a ) -12 are :7  

1, 	(a2  +CI+ 6)(a +2)(a-1) 

2.  (a2 	a + 6)(a -2)(a +1) 

3.  (a2  + a + 6)(a - 2)(a -1) 

4.  (a2  + a +6)(a + 2)(a+ 1) 

171. (a 2 +4 +4(a2  +a)-12 

1. (a2  + a + 6)(a + 2)(a -1) 

2. (a2  -a+6)(a-2Xa+1)  

3. (a2  + a + 6)(a - 2Xa -1) 

4. (a2  +a+ 6)(a + 2)(a +1) 

172. If the sum of two numbers is 7 and the sum 
of their cubes is 133, then the sum of their 
squares is 
1. 19 2. 39 
3. 126 4. 29 

172. 7:1-ft 	 4)1 -I)4 11-t-)0 7 * 

ER't 4)1-1) 4 14-)c-1 133 *     041 chi 

q) 4 14)c,1 t :- 

1. 19 	 2. 39 
3. 126 	 4. 29 

173. Tric-0.5(4x +1)= 0.3(2x +1)+1.6 * 	.v 4)1 

4-11-1 t :- 
1. -1 	 2. 1 
3. 2 	 4. -2 

173. If 0.5(4x +1) = 0.3(2x+1) +1.6, then the 

value of x is 
1. -1 2. 1 
3. 2 4. -2 

174. A bag contains card numbers 3, 4, 5, 6, 
7....27. One card is drawn, then probability of 
prime number card is 

1. 9  2. 8 
25 27 

3.  8 4. 1 
25 5 

174. 'ct.) 	t 3, 4, 5, 6, 7 	 27 31 clic) 

c4-)1 	t I Bch cpI.. PIcpki1 41q1 	3P-TR71)-  

1ksz41 cblg 	qAcoor 

168. Ozone depletion is caused by : 
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175. A man buys apples at a certain price per 

dozen and sells them at eight times that price 

per hundred, find his gain or loss percent 

1. Gain 4% 	 2. Loss 4% 

3. Gain 5% 	 4. Loss 5% 

175. 	ci-) afWf ft-4t fift-d 4-vi mf4 
ft*IN tf .4)4 	g,Ncit t 30 1*4-cm shy 

tcri * 31T 	ttuti teti A 100 * ftiTr4 
t 4-4-dT t I c24W1 tfff 1141-  TIT 6A mftc-r 
6 4i1 :- 

1. 	4% WIT 	 2. 	4% 61 P1 

3. 	5% 09' 	 4. 	5% 6n 

a4  -a3b - ab3  +b4  .
176. 

(14  -a3b-ab3  +b4   
176. 	

a4  +a3b-ab3  -b
4 	\J-krict 4-t Wzr t :- 

(a - b)2 	 d -b2  

Simpl 	: Simplify 
a4  +a3b-ab3 -b4 

(a - b)2 	 a2  -b2 
1 . 	 2. 

a+b 	 a2  +b2  
3. 	a-b 	 4. 1 

1 . 	 2. 
a+b 	 a2 +b2  

3. 	a-b 	4. 1 
a+b a+b 

177. AXYZ is a triangle right angled 

The length of perpendicular 

is 	 x 

1. 15.5 units 

2. 13.5 units 	63  

3. 10.5 units 

4. 15.0 units 

at X. XP 1 YZ. 

XP drawn on YZ 

16 

Z 

177. AXYZ 4 LX = 90°, XP 1 YZ TT YZ TR 

-1q14 tc,)-  Trq (14-61 XP 	 ten-  :- 
x 

1. 15.5 	4)1 

2. 13.5 *c-t)i4 	63 16  

3. 10.5 	col 

P 4. 15.0 44)14 	 P 
65 	> < 	65 	> 

178. The value of 
AT  ± „fi 	j 

9 is 178. 
, W + Vi 

*WI lirq t :- x-5 

1. 

[ 

8 -_- 
7 

3. 	18 

7 

	

2. 	15 

7 

	

4. 	24 

7 

	

1. 	8 -__ 
7 

	

3. 	18 

7 

. 2. 	15 

4. 

3.A  

7 

24 

7 
179. If 9x-2 = 3" , then the value of 21+x  is 

	

1. 64 	 2.. 32 

	

3. 16 	 4. 5 

179. 	LIR 	9.,_2 =3,,,i 	t,  -0-) 	21+x 	--1- :- 

1. 64 	 2. 32 

3. 16 	 4. 5 

180. If 	(x + 1) 	and 	(x - 2) 	are the factors of 

x3  + axe  - bx - 6 , then the value of a & b are :- 

1. 	a= 2,b= 3 	2. a= 2,b= 5 

3. a=5,b= 2 	4. a= 2,b=7 

180. z1R 	(x + 1) c .2TT (x - 2), x3  + ax2  -bx-6 

ttul-Mu4 * .)- a UzTT b * l'IM t- 

1. a= 2,b= 3 	2. a= 2,b= 5 

3. a=5,b= 2 	4. a=2,b=7 

(x2  +3x+ 2 x +5x+6) is 
181. Value of 181. 	

X +3x+ 2 x +5x+6 	
:- liN t 

x2  x + 4x + 3 

	

1 	x + 2 	 2 	x + 2 • 

	

. 	 . 

x2 (x2 + 4x + 3-1-  

1 	x + 2 	 2 	x + 2 . 
2 	 x 

3 	x - 2 	 4 x + 4 
2 	 x 

3. x - 2 	 4 	x + 4 

x 	 x +3 x 	 x +3 
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182. 1 	1 	2 	4 	8  ( 1 -x 	1+x 	1+x2 	1+x4 	1+2 is equal to 182. 1 	 4 	8  -1-1-+---+- - cif Tri-9.  t :- + 	+ 	+ 	+ 

1.1 	 2.0 

8 	 ' 	16 3 	 4. 

1-x 1+x i+x2 	1+.x4 	1148  

	

1. 1 	 2.0 

8 	 16 

	

3. 	 4. 
1-x8 	 1- x'6  1-x8 	 1- x'6  

183. PQRS is a trapezium. QR = 9cm, 

90°, PQ = 5cm and area (\QRS) - 

Find the area of the trapezium 

1. (7.5 +13.5-/j)cm2  
p 	5cm 

ZRQS = 

81 

183. 4 QR=9cm, z4R Lcn Vie11-61WSI-1 	PQRS 

ZRQS = 90°, PQ = 5cm 

81  
(AQRS) - 	_i 	cm-, 
	

6l 	ai 	Iii-ici+-61  

'MIT  
2J  cm2. 

Q 

2V3  

5cm 

wr ertfra• vim cipt) I 

1. (7.5 +13.5Vj)crn2 	P 2. (1 5+13.54/12  

9cm 
3. (1 1.25+13.54m2  

, 
27\6 	 R 4. cm2 	s 

2. (15+13.54-n2  9cm 

3. (11.25+13.54r? 

RAr 

R s 
4. 27/i ctri 

184. In the given figure, AC is the diameter 

circle. EDHAC, ZCBE = 65°, then ZDEC 

of the 

is 

184. t T1- 	ZIT% 4, AC q-ci Th-T 

EDI SAC * I ZCBE = 65°  th" 

ciII*1 * 31r 
ZDEC W1 .TET9' 

c 

6 ill I 	 B 

1. 35° 

2. 25° 	A 11 I 1 
' 1. 35° 

2. 25° 	

iiii  

3. 65° 

	

	A 	 C liffM10ig  

4. 30° T-iiiiII 3. 65° 
tailli;110 

0 E WI D 4. 30° 	 E 4̀11111.1111,1" 

185. A bag contains 25 paise, 50 paise and 1 Rs. 

Coins. There are 220 coins in all and the total 

amount in the bag is Rs. 160. If there are 

thrice as many 1 Rs. Coins as there are 25 

paise coins, then what is the number of 50 

paise coins? 

	

1. 60 	 2. 40 

	

3. 50 	 4. 80 

185. 2Af. 	-cr- 	2U-  4 25 	,z), 50 	(-)‘') U2TT 1 

* Rtro i t ail-  itrd'Ebi- 	cger titv-II 220 

31t T3(1 '<DI 160 0 t I 1 . '0 	ftl"WhAt 

4 *kg-4i 25 t),t) 	ftWa A" tk9-1l 

Ffirr t 	It 50 4,t) 	RicrtoI "'1-  tit,q41 
ftat MI? 
1 

	

. 60 	 2. 40  

	

. 50 	 4. 80  3 

186. If 	x+y+z=2,xy+yz+zx=-1 	and 

xyz = -2 , then the value of ' +y3  +z3  is : 

	

1. 20 	 2. 16 

	

3. 8 	 4. 0 

186. ziR x+y+z=2,xy+yz+zx=-1 ,  

xyz = -210 t x' +y3  +z wr Trrff t :- 

	

1. 20 	 2. 16 

	

3. 8 	 4. 0 
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187. In the given figure, if AF 
7.5cm, CD = 4.5 cm, ED 
AE = y cm, then value of X 

1. x = 2-13
cm, y = 3cm F 

16 
2. x = 3cm, y = 5cm 	E 

3. x = 5cm, y = 3cm 	̂ 
13 

II BE II CD, 
= 3cm, BE 
and y are 

_...iiiiiim ib,_
l 

AF 
= X cm, 

3cm 
E 

= 

4= . 

3 

187. t q wet- -4, tif4 AF 

7.5cm, CD = 4.5 cm, ED 

AE = y cm, c 	x .d.P-ll y * 

1. x = 2-
13

cm, y = 3cm 
16 

2. x = 3cm, y = 5cm 	E 
t!1l 
N  

3. x = 5cm,y = 3cm 

II BE II CD, 

= 3cm, BE 

1917 t I 
F 

i6 3cm 

AF 

= x cm, 

= 

D 

A 

3 

4. x = 2 -cm, y = 5cm 	A 	B 	c 
16 4. x = 2-

13 
cm, y = 5cm 	A 	4 	B 	C  

16 

188. In a Rhombus ABCD, LA = 60°. The ratio of 

diagonals AC and BD is 

	

1. 	li : 1 	 2. 	1 : -.5 

	

3. 	1:/ 	 4. 	.‘,/j :1 

188. 	ci.7 TPTff-gt 	ABCD # LA = 60° t t 

1-14 AC 4 BD .-T 3171-0-  t : 

	

1. 	..5:1 	2. 	1:/ 

	

3.1:1 	4. 	-kii :1 

189. If the perimeter of right angled triangle is 

60cm and its hypotenuse is 25cm, then the 

area of the triangle is 

1. 17.5 cm2 	 2. 50 cm2  

3. 150 cm2 	 4. 175 cm2 

189. 	q1.4 	c4') 	t1flcr))u1 	WI 	(-INN 	60 

.()4)0 	tP-.TT 	.(-1.471 	chul 	25 	0 	* 	dr 
SFr a)---cn-a.  t :- 

1. 17.5 cm2 	 2. 50 cm2  
3. 150 cm2 	 4. 175 cm2  

2 T-...,/ 
190. If 	 then the a+bNI36= 	,----. 	, 	values * 	- Ni..150 _.,._., 	

-2.TT 190. qR a+blIjiTi= 	,----* 	cii a 
2.3+1/ 	V0.69 

b 	TEM, - 

1. 	13 	2 	2. 	= -13 b = 2 a = - 	,b  =- 	a 

112.3 +-‘1, 9 

ofa&bare 

-13 	- 2 	-13 	2 
1. 	= 	b = 	2. 	= 	b = a 	 a 	, 

7 	7 	 7 	i 

13 	2 	4. 	a = 
13 	2 

3. a = 
T '

b = 
7 	T 	7 

7 	7 	 7 	' 	7 

13 	-2 
3. a = 	,b = - 	4. a = -13

,b = 2 
7 	7 	 7 	--i 

191. If x = 3 - 2 ,5 , then the value of x2  ± I is 
X2  

	

1. 34 	 2. 38 

	

3. 36 	 4. 32 

191. za .. 3 - 2-./i t t x2  + 12 W- TEM * : 
X 

	

1. 34 	 2. 38 

	

3. 36 	 4. 32 

192. In the given figure, ABCD is a square then 

the area of shaded region is 
6cm 

192 cm2 	 D 

	

1. 192 cm 	 6H
1. 

192. t Tr 	3TTTt 	#, ABCD 	-) 44 t t 
to iq ao ITITI. --r end t : 

D 
2.  

3. 148 cm2  
N 

4. 128 cm2 	8cm 

2. 168 cm2 

3. 148 cm2  N 

4. 128 cm2 	 8cml 

 168 cm2  
E  
-1 

I-4  10cm L< iocm 

I 
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193. If 	x = 3 + 	+ 3, 	then 	the 	value 	of 

x3 - 9x2  +18x -12 is 

1. 	1 	 2. 0 

3. -1 	 4. 2 

+3 	'61 'ff).  

TT TEM.  t :- 

2. 0 

4. 2 

193. zn x= 3 + 3 

x3 - 9x2  +18x-12 

	

1. 	1 

	

3. 	-1 

	

194. If xa  = 	b  Y -zc  and Y2 ."7---zX, then the value 
1 	1 

of -+-is a 	c 
b 	 c 

1. y 	 2. y 

2 	 2 
3. T 	

4. - 
a 

194.  ,4R xa =yb =z, 	2,i_r y
2  =zx t 	1+1. 

a 

c 
2. 	-2- 

2 
4. - 

a 

c 
 -9-rff t:- 

b 
1. 	-2- 

2 
3' 	b 

195. In the figure, 

then the value 

1. 400° 

2. 390° 

3. 360° 
A 

4. 300° 

0 is the centre of the circle, 

of 2x + y + z is 

E  

2x + y + z 195. 3TTTft 1?i, 0 To TT c c * -d).  

E  .wr Tim t :- 

1. 400° 

2. 390° 

3. 360° 	A  

4. 300° 

111  (1  D 

0 

IVP C 

D 

(4119111140 

0 

B B 

196. If 	the 	points 	(a,o),(0,b) 	and 	(1,1) 	are 

collinear then which of the following is true :- 

1 + 1  
1. --= 2 	2. 	

1 - 1 =1
-- 

a 	b 	 a 	b 

3. 	
1  
---

1 
 = 2 	 4. 	

1  
-+ 

1  
- =1 

a 	b 	 a 	b 

c 	T 	(1,1) 196. ea 	-r4. 	(a,o),(o,b) Tita-  tt 

"l 1.-1 - t cm! flg) t :- 

1 	1 	 1 	1 
1. 

a  
-+ 

b  
- = 2 	 2. - 	

ab
--=1 

1 	1 	 1 	1 
a 

ab  
---= 2 	 4. 

a  
-+

b  
- =1 

197. What will be the area of the rhombus with 

equation of sides ax ± by ± c = 0 ? 

k2 	 4c2 

197. 3-ii:11:1-4g."0-  TT al:b-a-  crtIT 6)4 1I Rriti4 

0 t? 

	

' .1.31-1. 	tIctrul 	ax ± by ±c = 

	

2 	 4c2 
1. 
	ab 

sq . units 	
2" 	ab 

sq . units 

2c2 	
c 

2  

1. 	44 T-r4 	2. 	CO 	*C01 
ab 	 ab 

2c2 	
C 

2 

3' 	ab 
sq. units 	4. 	ab  sq. units 

3. 	4. 	qrf*st4 
ab 	 ab 

198. For the 	equation, 	2'3  = 4°+2  -48 	the 
value of a is 

. 	1. 	0 	 2. 	1 	 • 

3. -1 	 4. -2 

-48 	* 	.0T 	'a' 

2. 	1 

4. -2 

198. LIR 	2-3  =4-2  

1. 0 

3. -1 

--1- 	179' 
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199. The sum of the area of two circles, which 199. q) 1-cil ch 4T:b---  cb I ?IM 1537E t ut) Bch 
touch each other externally is 153n. If the 

V-I 	ct)) 	4Kr 	Trvi- 	c,t)) t 1 	qft 	*--i 	ql—II 
sum of their radii is 15, then ratio of the areas 

of smaller to the larger circle is VI chr) -1 --E113- 	at 4)1 T4trf 15 t c-1) lik 	cj-ci 

1. 	1:2 	 2. 	1:4 311-- 	"4* cd-cia-)----(b---61 cm 31--Triu 611 

3. 	1:6 	 4. 	1:5 1. 	1:2 	 2. 	1:4 

3. 	1:6 	 4. 	1:5 

200. The sum of the co-efficients of X2  and x in the 200. 'd-2-11-  (x + 3)(x — 5)(x + 7) 	c, 	ttul-lt-Oci 	14 X2 	x 

product of (x +3)(x —5)(x + 7) is 
* Illte V q)41t-bei t: 

1. 24 	 2. 34 
1. 24 	 2. 34 

3. -24 	 4. -34 
3. -24 	 4. -34 
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